. Find the general solution of the equation cosec 480 = —=

\/—?; .
2. Find the value of sin 75° cos 15° + cos 75° sin 15°.

O™

3. Find the value of sin — .

: 1
4. If sin A = 5 what is the value of sin 3A?
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13.

14.

15.

16.

17.

18.

19.

. If A, B, C are the angles of a triangle, find the value of sin (

Find the value of tan (-1125°).

cos (m + 0) cos (-9)

sin (1t — 0) cos (g- + 8)

Find the value of

A+ B)
5 |
If cot 2A = tan (n — 2) A, find the value of A.

. Find the solution of the equation tan 6 = —1.
10.
11.
12.

Find the value of cos 150° + sin 420°.
Find the value of tan 75°.

Find the value of sin (40° + ) cos (10° + 8) — cos (40° + 6) sin (10° + 0).

1
Write the general solution of the equation cos 6 = 7—5

Find the value of cos? 52° — sin? 38°.

1
If sin O = —7—-2— and tan 8 = 1, in which quadrant does the angle 6 lie?

What is the domain of tan 67

92 + 3 cos> 0
1-2sin% 0"

If 4 sin? 0 = 1, find the value of

Find the value of 2 sin® —?f— + 2 cos> g

Iftan A = -z- find the value of tan 2A.
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